
Part One 
 

1 + 2 + 4 — 2 — 2 + 1 — 2 = 2 
 

3 — ½ + 1 + ½ + 4 — 2 — 3 = 3 
 

4 + 4 + 2 — 6 — 1 — 2 + 3 = 4 
 

½ + ¼ + ¾ + ½ — 1 + 4 — 3 = 2 
 

1 + 2 + 6 — ½ — 1½ — 1 — 2 = 4 
 

3 + 1 — ¾ —1— ¼ + 2 — 1 = 3 
 

½ + ½ + 1 + 4 — 2 — ½ — 1½ = 2 
 

1 + 1— ½ + ½ + ¼ + ¾ + 1 = 4 
 

2 + ½ + 1½ — 1 + 1 — 2 — 1 = 1 
 

Parts Two and Three 
 

All the answers can be found in the centre of the grid  
 

            0 2 4 
                                              4       0 
                                              3       3 
                                              0 2 0 2 
            0 
             4 
             0 
             1         
 

The final answer is: 
 

Ludwig Van Beethoven wrote 9 complete symphonies 
 
 
 
 


